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Math 017 CLASSWORK 6
Copyright c©2012 by A. Schremmer under a GNU Free Documentation License.
[ Run: 07/24/2020 at 18:23 Seed: 6477. Order of Checkable Items: List. ]
————————————————————————————————–
The idea in this CLASSWORK is

Cw 6-1. Identify the specifying-phrase [4 Apples] ×
[
2 Dimes

Apple

]

Cw 6-2. Identify the specifying-phrase [−4 Apples] ×
[
+2 Dimes

Apple

]

Cw 6-3. Identify the specifying-phrase [+4 Apples] ×
[
−2 Dimes

Apple

]

Cw 6-4. Identify the specifying-phrase [+4 Apples] ×
[
+2 Dimes

Apple

]

Cw 6-5. Identify the specifying-phrase [−4 Apples] ×
[
−2 Dimes

Apple

]

Cw 6-6. Given the following “events”

Tim’s “event” = [+5 Apples] ×
[
−3 Dimes

Apple

]
and

Pam’s “event” = [−4 Bananas] ×
[
+4 Dimes

Banana

]
,
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which comparison sentence(s) is(are) true?

Cw 6-7. Given the following “events”

Jack’s “event” = [+3 Apples] ×
[
−5 Dimes

Apple

]
and

Jill’s “event” = [−2 Bananas] ×
[
−5 Dimes

Banana

]
,

which comparison sentence(s) is(are) true?

Cw 6-8. Given the following “events”

Jack’s “event” = [+6 Apples] ×
[
−3 Dimes

Apple

]
and

Jill’s “event” = [−2 Apples] ×
[
+4 Dimes

Apple

]
,

which comparison sentence(s) is(are) true?

Cw 6-9. Given the following “events”

Jack’s “event” = [−3 Apples] ×
[
+7 Dimes

Apple

]
and

Jill’s “event” = [−4 Apples] ×
[
−8 Dimes

Apple

]
,

which comparison sentence(s) is(are) true?



3

Cw 6-10. Given the following “events”

Jack’s “event” = [−4 Apples] ×
[
+6 Dimes

Apple

]
and

Jill’s “event” = [−5 Apples] ×
[
−3 Dimes

Apple

]
,

identify the specifying-phrase Jack’s “event” ⊕ Jill’s “event’.

Cw 6-11. Given the following “events”

Jack’s “event” = [−2 Apples] ×
[
−7 Dimes

Apple

]
and

Jill’s “event” = [+4 Apples] ×
[
+5 Dimes

Apple

]
,

identify the specifying-phrase the specifying-phrase Jack’s “event” ⊕ Jill’s
“event’.

Cw 6-12. Given the following “events”

Jack’s “event” = [−4 Apples] ×
[
+6 Dimes

Apple

]
and

Jill’s “event” = [−5 Apples] ×
[
−3 Dimes

Apple

]
,

identify the specifying-phrase Jack’s “event” ⊕ Jill’s “event’.

Cw 6-13. Identify the specifying phrase
[+5 Apples] ×

[
−4 Dimes

Apple

]
⊕ [+7 Bananas] ×

[
+2 Dimes

Banana

]
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Cw 6-14. Given the following “events”

Mimi’s “event” = [+3; Apples] ×
[
−5 Dimes

Apple

]
and

Momo’s “event” = [−5 Bananas] ×
[
−3 Dimes

Banana

]
,

identify the specifying-phrase Mimi’s “event” 	 Momo’s “event’.

Cw 6-15. Identify the specifying phrase:
[+7 Apples] ×

[
−5 Dimes

Apple

]
	 [+7 Bananas] ×

[
−5 Dimes

Banana

]


